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PART - ‘A’
1. Attempt any ten questions : - (10x2=20)
(a) Howmanyterms arethereinthe senes 3.6.812, ... 38.

(b} Findthesixthtermof GP 12,4 4/3.-4/9, ...
() Write the ninth term of {1+2x)'%.

4
(d) Find the equation of the straight line passing through the point {-1,-2} with slope 5

(e) Find the equation of the circle centred at (1,-1} having radius 5.
(fy Findthe slope of aline perpendicularto the line 2x+y+3=0

(g) Find the value of 1-2 sin? 45°

{(h) Provethat (sec A—1) (sec A+1) cotA= tanA.

_ A-F -4 E—4 -1
iy If —53 St , then find 2A-3B.

0) What is the value of tanas"[?

1 0
(k) FindtheinversaﬂfthematrixP‘=[? E].

3 -1 5 7
(Il  Findthe product of the matrix A = 5 2 and B = =4 d
{m} Findtke unit vectorin the directionof a=2i- 3j+k

{0) Find 32a+4b,ifa=i-2j+k, and b= 3j+j=3k
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2. Attemptany five questions : (5x4=20)

(@) The 5 term of a GP. is 81 and second term is 24, Find the series.

(2) Find the value of nif the coefficients of the sixth and the sixteenth terms in the expansion of
{a+b)” are equal.

(¢)  Bind the equation of the line which passes through the point (-2,-4) and parallel to the line
8x-2y+3=0

(d} Resolve into partial fractions ;%‘5:-5

(@ F a=2i+j+k b=3i-5j+k thenfind 3. p

()  Provethat sin47° = cos77° = cos 17"

-__ 5 2- . 3 1 3 B
(@} Compute AB-BA, where A =| B= i g
' | 5 4] _2 4 7

(h)  Find the equation of the parabola whose vertex is (1,3} and focus is (-1 3.

PART-B
Attempt any three questions. (3x20=60)
3. (a) Findthe sum of all integers between 200 and 1000 that are divisible by 4,

4 2 -3
(b* ExpressthematrixA = 1 3 -6 |assum of symmetric and skew-symmetric matrix.
-5 0 -7
i’z 6§ 3
4. (a) Findtheinverse ofthematrix A=/3 1 2
¥ &

(b} Find the equation of the circle having radius /13 and tangent to the line 2x=3y+1=0
at(1,1)

5. (a) Provethatcos 130°+ cos 110°+cos 10°=0

(b) Find the coordinates of the centre, the vertices, the foci, the eccentricity and equation of
the directrices for the hyperbola x*— 4y? + x +16y —11=0.
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6 (a)
(b)
7. (a)

Find the coordinates of the centre, the vertices, the foci, the eccentricity and the lengths
of the major and minor axes of the allipse x* + 2y? + 4x - 12y + 20 =0

If a=i-2j+3k, b=-i+2j+2k and ¢ = 3i+], find t such that a+tbis
perpencicularto g

Solve the following system of equations by cramer’s Rule.
X+ty+z2=3 x=-2¢y+32=4 x+4y+9z=6

1+a 1 1

1T 1 1
|1 1 1+C_




(=St warR)

i quites : 100

1.

2.

=gt ew weAt & g AR

{a)
(b)
(c)

(d)

(e)
(f
(9)
(h)

(i)

)

(k)

U]

o 36012, 364 el 2
GP 12,-4 413-4/9, ......... & A o 50 &fi

(1+2x)12 4t = 2 fafed
: 4
A @ A e e FfR o B gy (-1,-2) B e 2 au g T o gl

(1,-1) & % 7o 5 anfeamy & qa o wfigew s A
2x+y+3=0 % FETq W@ T WY F7E Hf
1-2 sin? 45%@ O s Hifa

firg FIforl 5 (sec A—1) (sec A+1) cot A= tan A

A_z -4 5—4 -1
af R Il P 2 @t 2A-3B A ifem

(tanas° ' @ ar @ &7

1 9]
%ﬁwﬂ{? g| ® FR e AR

3 1] 5 7
ﬂfﬁwﬁ‘:[ﬁ 2 | ae E=[_1 _J @1 TOFh T By

(m) a=2i-3j+k @ R ¥ gfwe doer s il

(n)

33+ 4b 3 PR 9 B B=i-2j+KkT b=3i4 43¢ 2

=t om weAl & IR forfed

(a) W GP. ﬁﬁﬂﬂitﬁm%amq}qﬁtﬂzqammﬁmwl
(b) aﬁ{ymnasWﬁﬁammmﬂaﬁ%mwﬁﬁﬁmm |

4/6




(c) @ & wftewm wm ff a9 i (2,-4) T8 Sx-2y+3=0 7 et @ dul & T Bl
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(2)
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(b)

frg &R v cos 130°+ cos 110° + cos 107 =0
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x+y+z=3,x-2y+3z=4 x+4y+92=6

i+a 1 1 P

1 1+b 1 |=abe(l+=+-+-)
firg i

1 1 1+c¢ i




